Memorize... 0

1. Deﬁn.lt}ons of six trig functions (_ +) ( X, ﬁ_) oo
2. Reciprocal functions -
('_ ,) (‘i’ )
-/ “All Students Take Calculus” 2710

4, sing=2 cos@ =2 tanf =2
T r X

5. 45° = 45° —90° and 30° — 60° - 90° Triangles
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Study...standard position, negative angles, quadrants, coterminal angles, converting degrees and radians,
trig ratios, reciprocal functions, reference angles

i Sketch the following angles in standard position.
— 30 AT

1. 420° @ 2.570° ?\5 3, -750° ?ﬁ “"’@ 5——,Z}j_>

If each angle below is drawn in standard position, in which quadrant will the terminal side lie?

6. —952° 7. %’M%”jj‘_ 8. 249 AT 9. —4—” j
| ""240

N, 290° - 11. ng— o) _’ll__r_ 12. 17% “Z510° It 13, L2
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Find one positive and one negative coterminal angle. ]

14. 5782 0N 18R 15,2450 1S, LOD  1s. 5?” ':%[ b N 5—7’5 g 4
) b 1, =+
18. What does 1t mean fO-SQ/O angles to bec O&rmmal? Sketch a picture of two coterminal angles.
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I Convert from radians to degrees. Round to 3 decimal places.

177r Ox A —_
19. T3 QQDL’ | 20. 1 I'—H&’]B 21.4.325 HM {

| Convert from degrees to radians,

22. 100° (give answer in terms of pi)‘ 23. 115.34° {round to nearest hundredths)
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Determine the reference angle. |

|8D-12S™ R0 -\50 ] MRl 113(00-5&0 1
24.-125° g 25. 6205240 26. 7”440 27, = (l0° 28, __7’32”.,%5
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Note: reference angles are always positive and less than ] (in degrees) or 2 (in radians)

"Find the 6 trig functions of an angle in standard position whose terminal side passes through the given
point.

29. (:5,-12) (‘5?'*((‘15; =C* 30. (4,5) (4P (-5) =H1 JG|=C

_ e &ﬁ%'jr“%—'éf' osce=1L
—'ﬂil sin= 1% csc =l Closegh 8L - Al S€6= ‘[%
Cove= "% 56c9'~—-—-l§ =

Hone=- ore=-4

‘}f(me-:,-—_l.& 2 rotp= ; 0 G (ore=-z

31 Flnd t"}lw r%rgtlalmng 05‘ tri ?nzzc;lon given tha;e cos B = —-- and 0 is in quadrant I.
' n =2 o
FE (o= sec6= 2% tano=2 (oro="35
%2 Thrﬁpomt (8%5) is on the termmal side of an angle @in standard position. Find siné
t 35 . 5in6=
33, The pomt (-7,24) is on the termmal side of an angle @1in standard position. Fmd cschl
3 -1 Y‘+(95\31 L3 e o=

34 The point &6 -8) is on the terminal side of an angle #in standard position. Find cosé
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35. Suppose cot@ ==, and the terminal side of the angle lies i m quadrant 3. Find cos8

v - L\ G\ -
J’i (o= v“? ‘-\ =
36. Suppose cosf= -——1—7 and the terminal side of the angle lies in quadrant 2. Find tané.
egr=gss  +ONO= ',%
37. Suppose cscl= ﬁ nd the terminal side of the an gle lies in quadrant 1. Find cotd.
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Determine the value of each without using a calculator.

38, sm(llgrj 39. cos(27) 40. csc[——%} 41. ta 73”} 42, cot(r)

43. sin(225°) 44. 1an(180°) 45. in(90°) 48. cos(480°) 47. tan(315°)



